Exam NGT 6 Production

Part 2 of Production Exam, NGT 6

Informative narrative (Where does an animal live, what does it eat, what does it look like?)
Purpose: the student knows six ways to sign an informative story.

Scroring form of one student LP (2nd year student).)

Three different ways to tell an informative | Total 18 point Comments

story

1. clear structure/development 3 correct = 6 points The student uses only 2/6
(introduction, parts) 2 correct = 4 points possible structures.

2. buoys, 1 correct = 2 points A third way (hooked hand shape)
3. localisation INDEX3a, INDEX2, INDEX3b, 0 correct = 0 points is unclear.

4. hooked hand shapes,
5. rhetorical question(s)
6. factual information.

Sign order All correct = 4 points The student used correct SOV
The story must be grammatically correct in Half correct = 2 points order in NGT, as well as

SOV order, with correct use of mouthings None correct = 0 points | mouthings and mouth gestures.
and mouth gestures.

Fluency All clear = 4 points The student did not sign fluent
The student signs fluently, i.e. without Half clear = 2 points enough (hesitations, correction,
unnecessary pauzes, hesitations, self- Not clear = 0 points unnecessary pauze).
corrections and does not use unnecessary

fillers.

Story All clear = 4 points The story is no

There must be a clear structure in the story, | Half clear = 2 points tenticing/attractive enough.
and it must be enticing. Not clear = 0 points Attention is thus easily lost.

Total: 10/18 points




